Class Notes by Aditya Ranjan Sir
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BY ADITYA RANJAN SIR

What is the Highest Common Factor of
42, 168 and 2107

42, 168 TGT 210 T WgWH HUIUSdH a1 B2

SSC MTS 08/08/2019 (Shift-02)

(b) 21
(d) 7



COMPLETE |\ V;:¥ ¥ s N} COURSE (For all govt. exz By ADITYA RANJAN SIR

((\-2
QX3 XT 1. What is the Highest Common Factor of
2 - ayax 42, 168 and 210?
10 =

SSC MTS 08/08/2019 (Shift-02)
HCE-2'%3' X7 (a) 14 (b) 21
= Yo ey 42 (d) 7



o) 1A AMATHSE1I: or all govt. ex: By ADITYA RANJAN SIR

e :

1. What is the Highest Common Factor of
Yo, 168,210 42, 168 and 2107
X\é 42, 168 TAT_210 1 WgWH HHIUSdhR &1 B2
SSC MTS 08/08/2019 (Shift-02)

(a) 14 (b) 21

N[O Z: ¥ (d) 7



o) 1A AMATHSE1I: or all govt. ex: By ADITYA RANJAN SIR

-
8= [ 80.5Y 2. Find the HCF of 110, 180 and 540.

Q (110,180,590 _ : )

5 (55,90, 210 140, 180 31T 540 &7 H.EY, ATA shiTAU|
11, 18, 54 DP Head Constable 13/10/2022 (Shift- 02)

y (a) 10 (b) 1

C 0 -

F11080SH)= 2% () & (d) 3



o) 1A AMATHSE1I: or all govt. ex: By ADITYA RANJAN SIR

moZ 2X6 1| 2. Find the HCF of 110, 180 and 540.
:‘80_: X3 X6 140, 180 3T 540 & WHY. FTA HiTaUl
Sup = o X3 X5 DP Head Constable 13/10/2022 (Shift- 02)
(a) 10 (b) 1
(c) S (d) 3

ﬂﬁf_ -2'xS' =10



COMPLETE |\ V;:¥ ¥ s N} COURSE (For all govt. exz sy ADITYA RANJAN SIR

2. Find the HCF of 110, 180 and 540.
140, 180 31T 540 T W.H.U, FTd HiTHAT

o, 8o, 540

sr10 (b) 1

(¢) S (d) 3
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s 9 3> 3. What is the HCF of 2¥x 3* and(29x 32 ?
- 23 x 34|AT 25 x 32 W UgHH WUUGAF &M &7

SSC MTS 02/08/2019 (Shift-01)

(a) 2° x 3° (b) 2° x 3%

\(Ma x 32 (d) 25 x 34






| 40,4

Q.LLM (50,40 ) M2 Q X 5"

" 50 - |
o ; 0%x5
2150,54,40 40 Q'xgg
5 25,27,20 >
5,27,4 2
T Lem= 2° Xgr}X >
L= 2X5X5 X214 Y = S400
= SY00




BY ADITYA RANJAN SIR

4, Find LCM of 48, 50, 98, 54 and 72.
48, 50, 98, 54 31T 72 T TYAH THTIT™ AT

Cais L
(8Y2x 33 x52x 72 (b) 2% x 3% x 52 x 72

(c) 2% x 32 x 5% x 72 (d) 2° x 3°x 5 x 7

4g - Q'x3
SO = 2Xs*
SV:Q_X'B":
_12 :'23)(3)_

\

U



BY ADITYA RANJAN SIR

S. Find the LCM of 15, 24, 32 & 45

15, 24, 32 31T 45 & &YOH WUIEE ATd Hifa0l
(a) 1448 (b) 1436
(c) 1435 #1440

IS = 3XS

2Y = 233

32 25

1S= F2xg
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m/' 6. What is the LCM of 3.6, 1.8 and 0.1447?

SSC CGL 19/04/2022 (Shift-02)

= (a) 36 (b) 360

3.6 (d) 3600




w0 AN AMAT HSEG0): or all govt. exz By ADITYA RANJAN SIR

y |1© 9 /9-6/6. What is the LCM of 3.6, 1.8 and 0.144?
//%‘i/ ,.Jléa@/ = 3.6, 1.8 3T 0.144 &1 AW THUSE T €7
5

SSC CGL 19/04/2022 (Shift-02)

um um@s, 9 ,18) =18 (4 36 (b) 360
HF(5 S  129) (c) 3.6 (d) 3600



Lon (12, 024, 36 )

1,0 X109/  Q:2Y Xee 236 X100
—EE—

Lt (120, 2y 3600

0“5‘.36 -
B T2



COMPLETE |y l;V U3 &) COUF

pOVt. ex: BY ADITYA RANJAN SIR

Find the LCMof 3* x5 x 72 x 11, 3°x 5 x 112
and 3% x 5° x 114,

3*x5x7x11,3x5x 112 3R 32 x 5° x 114
& FHEY, ATd g

DP Head Constable 20/10/2022 (Shift - 03)
(a) 32 x 5 x 11 (by3* x 52 x 72 x 11°
(c) 3*x 5 x 7 x11° (d) 32x 5 x 7 x11



w0 AN AMAT HSEG0): or all govt. exams ) By ADITYA RANJAN SIR

8. The least number which is exactly divisible

10 by S, 6, 8, 10 and 12 is:
777 qad &9 wen Wt £ 4, 8, ¥ 3w 12 ¥
/BM . £k, 8, )8 AW 2 R W

SSC CPO 23/11/2020 (Shift-03)

95_\'0.12.8 (a) 240 (b) 180
206, Y (c) 150 \(y/lgo




e (@5%)
L) (T)Q'd—c—"f‘)

LCm[bl )
-THCF (0.d)



_ H-CF(T 14,21) =

w'..((r)( 3| S,Q)

- & 45
/30'10

-

05



9.

1
120

BY ADITYA RANJAN SIR

K(1357 9)

Find the HCF of
e A (2’4’6’8 10)

1357 9)

T 499 F7Td K

246 % 10
2 | 10,8, 6
1 SiY4,3 . 1
( 120 (b) r
1 o3
©) 32 1) 20
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10. What is the Highest Common Factor (HCF)

7 21 49
and — ?

of 1632 8

_ HCF
- a2 ( 7 21 qa 22 YWY HHUad® (HCF)
um \IE'QD T

fepaar 22
SSC MTS 06/08/2019 (Shift-01)
_1 147



o) 1A AMATHSE1I: or all govt. ex: By ADITYA RANJAN SIR

11 ThLCMf1754 dg'-
. e__ O 6,27’9’15 an 318.
.80 M 17 5 & ;7
3 HCE L €'27°9°18 AT ogwq §HTUE (LCM)
AT H

DP Head Constable 14/10/2022 (Shift - 03)

e~ b) 5o
3 (,280

280
(c) ET ) ===



COMPLETE |\ ¥:¥ i s &) COUF or all govt. ex: sy ADITYA RANJAN SIR

_05.m
um(q.S:‘?)_ = @’2 12. Find the difference between the LCM and

(L
HEC45S) HCF f4 . d -
O ’ ana _—_—.
(4,5,9) 4 -o0.04 7’14 35
Hu:_) HCP Rt = M0
Lem(7,(4,39) <4 B o B s ko
>viad W oo CM CF & ®r=l &
dif{= 2S.70
&¥-oon
2S:69
T (a) 19.5 (b) 20.7

(c) 22.3 (d)25.7



OMF ATHSEI): or all govt. ex: BY ADITYA RANJAN SIR

9 A
H-(;F(&Z;Qﬁ';%) = 00 13. If x is the HCF and y is the LCM of
6 /9/ 27
Wr L 36921] _ 5Y 5’2520’ 50 then which one of the
HCF( $,25,20, sa) = following is correct?
3 6 9 27 _—
¥ ?6‘0 afg S’25°20° 50 &1 HCF, x & 3T LCM,
- =%y%,ﬁﬁw%ﬁaaﬁ'ﬁmﬁ?-mvﬁ%?
S 2
'ng A1 (a) y = 90x (b) y = 180x

.ﬂ 360 (c) y = 270x w = 360x



w0 AN AMAT HSEG0): or all govt. exz By ADITYA RANJAN SIR

HeE (39) = 3 _ ) —" 16
A rRCORRG 14. |A=HCF of  and - jnd B=LCM of

4

B (_(_m(|6,‘4) - 16 and E,thenthevalueofA*-Bwillbe:
HF(528) -
A%mn %aﬁrnmm(HCF)%,B
A+ @ 16 a

T 2416 - 1S+256 ?mgmmm(LCM)?.A+
S

6 80 B & " faaem 272
TN SSC MTS 02/08/2019 (Shift-02)
\
So 250 o 70
k- (b)
271 260

~ 80 (d) 71
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15. Find the HCF of (3%°-1) and (3°°-1)?
(345-1) 31T (335-1) T HCF FTd &hi?

(a) 243 by 242
(c) 245 (d) 244

Famal:<3H64P°“’€r: 1)

Step 4i HOE( Ys3s)= S

Qng . ’35- \
T N3



0N AMATHSE]I: or all govt. exz By ADITYA RANJAN SIR

16. What is the largest number which divides
both 2°°- 1 and 2°'- 17

235 _ 1 3T 291 — 1 ==t &7 Tawfsa = aen
Tad TSt HEAT 94 £ 7

UPSC CDS 2023 (1)

(a) 34 (b) 90
(c) 127 (d) 129
Stepl:- H(e of (3s,a1) =™
Qug = 2'_ )

“ 8-z



povt. ex: BY ADITYA RANJAN SIR

17. Find HCF of4°° +1and 4% +17?
4% + 1 and 4*° + 1 ST HCF 719 il

(a) 4°+ 1 Uby4° + 1
(c) 47+ 1 (d) 4° -1

StepL: HF(63,4g) = 9
W= iy



ATHSKI): or all g¢ PXE BY ADITYA RANJAN SIR

wg = 323 18. What is the HCF of 3% - 9 and 3% - 9?
- (3"_32) 32° - 9 31T 3% - 9 T HCF &1 &7
= (3%-9)
(a) 3°-1 (b) 311 - 1

(c) 311 -3 ()37 - 9

(39, (R

C @) | (@)



pr all go PX3 BY ADITYA RANJAN SIR

19. Find HCF of 33 +1and 33* + 1?7

33 + 1 and 33 + 1 & HCF Jd &

\(})/33333 +1 (b) 3% ;1

(c) 3333 +1 (d) 3334 +1

3



%Ib
|
g = (°
= (Xq ') (xq
| +
1) (A1) l()(xq-“)
) (x+
" () (x
~1) -I)
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=
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Oq‘g: (a-b)(@ tb)q) 20. What is the HCF of the polynomials (x*
qp1 - (a*b*) (@™o ~ 1), (3 - 3x2 + 3x- 1) and (»® - 25 + x)?

A
~(a-b)@b) @M0*) e e 1), (- 303 + 3 - 1) 3T e -
2x2 + x) 1 WgWH AUTUada HCF &1 §Im?

DP Head Constable 20/10/2022 (Shift - 02)

(a) (x-4) (b) (x - 2)
(c) (x-8) (dAx - 1)

(Ch1), (-3ax-1) (%325 +x )
= (ﬁ-l)(XH)(x-l), ()(-1)3

QMY = (}-ﬂ

, % O-1)*




20. What is the HCF of the polynomials (x*
- 1), (x*-3x*+3x-1) and (x* - 2x% + x)?

qEUET (x4 - 1), (x° - 3x2 + 3x - 1) 3T (x° -
2x2 + x) 1 WgWH AUTUada HCF &1 §Im?
DP Head Constable 20/10/2022 (Shift - 02

(a) (x - 4) (b)((x - 2) |
(c) (x- 8) (d) (x- 1)

() pwt %x-2:0

& | e

S O XFFr 124
- o

)




20.

(et %=3

What is the HCF of the polynomials (x*
- 1), (x*-3x*+3x-1) and (x* - 2x% + x)?

qEUET (2 - 1), (x® - 3x2 + 3x - 1) 3T (x -
2x2 + x) 1 WgWH AUTUada HCF &1 §Im?

DP Head Constable 20/10/2022 (Shift - 02)
(@) (x-4) -1 (b) (x-2) 4
(c) (x-8) -5 (difx-1) =

Q?K—y{+q_,




g (rey?) =0+ o7 (at+y) (+5%) Gety) (e-y)

% (8-y8) = (c+y") (+g?) (xty) (9)

*
(I"_S‘i) - (x'?_'_u‘l)(.x.'_‘d) (X‘&)

S 2
(- 32): ()(-H,) (x-‘d)



¥ 00-y") = (x-y) (e %Py + xR+ 3R a Y ayS+ 4



x5’ W 21. What is the HCF of

(B-y®)= (x4 D eg)x-y (- y) and (x" - 37 + Xy? - P2
(x® - y8) 3T (x7 - y7 + x°y? - x?y°) &1 HCF
o' 3"@9 Ll
ML
= %5 (o) - Y3 (1) 8] (=*+ ¥
= 0 c+y*) =97 (b) (% - ¥?)
= o 0C%4y) (x5-y53) (1 - y° - Xy +xy?)
= OR) (2 (o (d) (x\- y* + Xy - x37)
—J7 (- 4) (¢ +’)G3+’e-31""“11‘*3\1)



ATHS JUK ]

p(n) x%(x):.- LLMXHLE 22,

BY ADITYA RANJAN SIR

Let p(x) = x* + x* + 1 HCF

2 —Y +1
q(x) = " - 22 + 3x* - 2x + 1. Ifof
p(x) and q(x) is x> - x + 1, then what is
their LCM? 4 -2+

Wﬁ':lﬁmp(x)=x"+x2+l,
q(x) = x* - 2x® + 3x2 - 2x + 1 &1 IFfT p(x)
Wq(x)BSTGCsz x+ 1%, d 9T LCM

()y(xwxun(xz x + 1)2



1 §
_(oncept Two_0umbers
12, 18
12 = QQX3
18- 3 x2 @ 12x18 HCE XM
| = Q6 6 X236
T(F: 2'X3 6 :2|6
(M- n2
(iy M= 2 x3* 36
(i leI:H(FXL(m
) L)



CCmM = 2X3x 27
pom M(E X PTOC’J.M %Q) 'PYifY\QS



5 (85,30

5, 0
H-CF =5

L-¢M:= BXBX6
H (Q-pyimes



o) 1A AMATHSE1I: or all govt. ex: By ADITYA RANJAN SIR

HCF=6 Az ::-9:)10 23. The HCF and LCM of two numbers is 6 and

Lum=6o4o IO =" 5040 respectively. If one of the numbers
- is 210, then the other number is:

6x5ep = AP XX a1 WS W WEWH WUUEdes N eHuy WHIIE

THAIT: 6 3T 5040 ) AfE 390 | UsF H@AT 210
Az lag

(a) 256 by 144
(c) 30 (d) 630



CO_ P-{"Yu = 21 3

©. HCF= 40
T = l0X2 =20
I - IOX3=30

lim= lox2x3 = 60



COMPLETE |\ ¥:¥ i s &) COUF or all govt. exz sy ADITYA RANJAN SIR

HCFxLem = 3324 24. The product of HCF and LCM of two
1- 269 numbers is 3321. If one of the numbers is

369. The HCF of the number is
HCFXWM = T XI afg a1 W@sli & HCF 37 LCM &1 TUHAwA

3321 %1 afg 399 ® Us W@ 369 ®1 @1 HCF

332;]’.—.}64’){[[ T

SSC CPO 16/03/2019 (Shift-01)
HF(369,9) = Q (a) 21 (b9

(c) 3 (d) 27



ATHSKI prr all gg D.¢ BY ADITYA RANJAN SIR

(m=2079  1=189 .
HCE < 21 T =7 25. The LCM of two numbers is 2079. And their

HCF is 27. If one of the numbers is 189,
then what is the second number?

Heexum = IXI g1 W&l T THAH WHIEd 2079 ¥ 3T 3T
,Q’I/XMJ—BQ'KE TEHH WEUEdE 27 §1 9EGER, gt I UE wem
297 189 &, & guA WA ot &7

\(aﬂ/ﬁw (b) 528

(c) 189 (d) 216



ATHSK«(i): or all govt. exa BY ADITYA RANJAN SIR

Noie- 70 06 - D, prind be 26. Two numbers are in the ratio of 5 : 7. The
0 number humbéas. product of their LCM and HCF is 12635.
then the sum of the numbers will be.

let HCF = Co-PYim=5, T w5 : 7 & arqura ® #1 39@ wE A

I=85¢ T= % TH. & MUAEA 12635 §1 TEAAT T ARG BRI
36! (a) 252 \(}WZS
Jéi?;._. Fox s o) 304 (d) 380
W= 361

S“m = |'2.qu
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umx HCE = ITXLO 26. Two numbers are in the ratio of 5 : 7. The
/KK yﬁc product of their LCM and HCF is 12635.
M then the sum of the numbers will be.
I*=36) 4t Hea Gy T § &) I wE, a
T.H, W UAGA 12635 € WA F ATHA EFT
(a) 252 \W28
Sum= 12K (c) 304 (d) 380
- 12xi9



30Vt exz BY ADITYA RANJAN SIR

The sum of and difference between the
LCM and HCF of two numbers are 512 and
496, respectively. If one number is 72,
then the other number is:

a1 TEsll & wYeW "uvae LCM 37 weEwH
AuTIades HCF &1 IOM A9T 39 &=l &l a7
THAYT: 512 30 496 ¥ AfE 390 ¥ U €W&AT 72
&, 91 SE W@ ®E-ar 87

SSC CGL MAINS 29 Jan 2022

(a) 80 (b) 40

(c) 64 \(9)56



ATHS DURK prr all gg D.¢ BY ADITYA RANJAN SIR

W— 28. When product of two numbers, is divided by
_ 05 its HCF then we get 5775, but when it is
HCF ELXTE_ - divided by LCM, we get 25. If one number

is 525, what is the second number?

: 3/53, a1 HEmsl & UHGH o W« 3Uh UH W WM

SSX X faar <rar 99 5775 UrE AT § oifehd 99 &4,
o ar faar sar € 99 25 e grar g1 afe 39
¥ U WEAT 525 &, O SH W@ 9 77

\(9/2’75 (b) 325

(c) 405 (d) 210



(o P{.me

(2,2 v
(3,4)
(8,18) v



ATHSKI prr all gg D.¢ BY ADITYA RANJAN SIR

T+ =628 29. The sum of two numbers is 528 and their
HLF = 33 H.C.F is 33. The number of pairs of numbers

T= 33% = 33y are possible :
T |3 T A 528 F 3T IHE6T WHT, 33 T

337 +33y = 528 AT & I i W& A9 2
16
xey) = Boer  (BVF (b) 6
.1.+3) (c) 8 (d) 12
1S\
2 |y X
3 1% \—
9 2y
S |y
7 X
\—
3

8X



w0 13N AMATHSE

yovt. exz BY ADITYA RANJAN SIR

30. The sum of two numbers is 1224 and their
HCEF is The number of pairs of numbers
satisfying the above condition is:
a1 &3 &1 ANTEE 1224 § 31T IR WHU.
(HCF) 68 %1 H&AT3ll & ool fehad gm0 Iured
frafa =t dqe 14 27

SSC CPO 09/11/2022 (Shift-02)

\(a}F (b) 4

(c) 6 (d) 2



ATHSK«(i): or all govt. exz By ADITYA RANJAN SIR

(O _31. The HCF of two natural number A & B is
)‘{1 X ,34/ - 1/6276 nd their product is equal to |152/0 How
many sets of values of A and B are possible?

ay =10 o UTehd HEATST A 3T B &1 W.HU. 39 & 31T
1xlo v~ 39T TUTAWH |52(0% | A 3{1T B & ATl & fahad
2X8S ﬁ'c’urra%7

(a) 2 (b) 3

(c) 4 (d) 8

‘X'Lj



ATHSKI prr all gg D.¢ BY ADITYA RANJAN SIR

AE56 32. Product of two numbers is 2028 and their

/}gl X)ag-f}”s/ H.C.F. is 13. The number of such pairs is:

3T W@ &1 % 2028 & 31T 37ah1 H.C.F.
Ty=12 13 ¥ TH I & W& 8
IXI2
Sar % (a) 1 k)2



or all govt. exa BY ADITYA RANJAN SIR

33. HCF and LCM of two 3-digit numbers are
16 and 2640 respectively. Find the
numbers?

3 3fahi @i &7 GEmel &1 W d9T &9, huor:
16 3T 2640 &, WEATT ATA ohi?

(a) 264, 120 (b) 240, 176
300, 160 d) 192, 176
2 e @ .
S "le%
Pl
H(f - 6 { 3
M= 6x2x3



ATHSK«(i): or all govt. exz By ADITYA RANJAN SIR

Co-Primes
Lum= HCE X Pdeﬂq' a‘ P 33. HCF and LCM of two 3-digit numbers are

Q640 = l6X i:m:233?2640 respectively. Find the
1Y 16 3 3fehl Rl 31 W& &1 W, 99T o1.9. Hul:
33*%5— 16 3T 2640 &, WEATT AT hi?
(a) 264, 120 (b). 240, 176
iSt-'-lelI:l‘lb L
nd (c) 300, 160 (d) 192, 176
2¥% - 16Xx1S=QY o0



Sum = 38 = Yy

34.

povt. ex: By ADITYA RANJAN SIR

HCF and LCM of two 3-digit numbers are
23 and 1771 respectively. Find the sum of
their numbers:

3 3iehi ehi T @S T UM, 99T FH, HUI:
23 3R 1771 €, 39 G&ARM &1 I AT@ hiTaU:

U 414 (b) 391
(c) 460 (d) 322
)
Lo
3
|6|



COMPLETE |\ V;:¥ ¥ s N} COURSE (For all govt. exz sy ADITYA RANJAN SIR

/yﬁ X% = g 35. Suppose p and q are the LCM and HCF
81 respectively ,of two positive numbers. If

o’ -8l P:q-= nd pq = 1134, then what
x-=-9) is the difference between the two

numbers?
O feU, It OFTHe "EAsi & LCM 31T

(M= HCFXaxb HCFW:paﬁTqﬁ‘l'afap:q=l4:1
Y%= ¥xayn AT pq = 1134, @1 37 A1 A& & oA
X1y o T AT T B 7
2 X '8&'- 3% UPSC CDS 2022 (1)
o= qu (a) 27
(b) 35
(c) 45

(d)Lannot be determined due insufficient
data/310ai@ afTehsl & &wror Faifa =@
ferar = waRan



O 45t - HeFxa
O 2™ . Herxp
D Sums CRINPS:
O Dij.](:

9-b ) xiee



fns

Lem = HCF xaxb

S
= g xaxb

15t Q
onq._ X2:)12
~GX3:|8

6‘6 = 6Xl =6

2)(3

o -
leg't > 2nunmbess
&pm Lem = HCF Yaxb
w;(: /‘{/X axb
, —E2H—
B3XT



36. The L.C.M of two numbers is 495 and their
H.C.F is S. If the sum of the numbers is

L(,m - HCFXAKb 100, then their difference is
W}%axb a1 WEA3N T @YwH THIIae 495 § 31T I
a9 : 9HU, 5 g1 afe wensh &1 aqr 100 €, 9 3T

axi Sum= 5X20=(00 FIT g

Digj= 5x2:= 10 NC & PRpI

(c) 70 (d) 90



COMPLETE |\ V;:¥ ¥ s N} COURSE (For all govt. exz sy ADITYA RANJAN SIR

LM = HCE XQXb 37. LCM and HCF of two numbers are 90 and
6 9(._. ngaxb Sum 15, respectively. If the sum of the two

IX6 — l05>< numbers is 75, then find the greater
2x3 — 15 " number.

g1 HEmsl W @.E. 3T WH, WUy 90 3’ 15
21 afs I " & @ 75 ¥, A SSr weEn
AT Shifea|

Smalliy = 16X2=30
Larger: 15%3 zyg

SSC CGL 21/04 /2022 (Shift-03

(a) 60 \(by45

(c) 75 (d) 90



DURK pr all go PX3 BY ADITYA RANJAN SIR

38. The difference of two numbers is 14. Their

LCM and HCF are 441 an Find the two
numbers ?

g1 & &7 aT 14 £ 39T oI WH WHIua
3T AT, 441 30T 7 g1 ST HLATU FJTd HKITAT?

By option (/63 and 49 - ] 65 and 48
(c) 64 and 50>< ¢ 64 and 49



ATHSK«(i): or all govt. exa BY ADITYA RANJAN SIR

LM = HLFXaxb 38. The difference of two numbers is 14. Their

}m’_—. /‘( xaxb _DRif LCM and HCF are 441 an Find the two

—63—6P " pumbers ?

2x1 =1y .
X9 “"Tmaﬁanamm%nmmwwaﬁ

15tz 1x7=y9 3T WHY, 441 3T 7 F1 1 AW ATd HITAT?
2n- 11%qz¢3 |af 63 and 49 (b) 65 and 48
(c) 64 and SO (d) 64 and 49



o) 1A AMATHSE1I: or all govt. ex: By ADITYA RANJAN SIR

£ _L=HX56 39. LCM of two numbers is 56 times their HCF,
L+H= 1710 with the sum of their HCF and LCM being
3 §6H+H=1110 1710. If one of the two numbers is 240,
K then what is the other number?

&1 HEAsll @ @gwd "uve (LCM) 39 HgwH

gaIades (HCF) &7 56 AT &, 39&h HCF 31

LCM &1 arm 1710 # afa &1 Hemst & ¥ us

30X 7xg 240 ¥, A I WEAT HA G T

Q¥
210 Yo (a) 57 (b) 171

(c) 1680 (d)yZ10




COMPLETE |\ V;:¥ ¥ s N} COURSE (For all govt. exz By ADITYA RANJAN SIR

L= 1Y% 40. LCM of two numbers is 22 times their
¥ [(+tH=276 HCF. If one of the numbers is 132 and the
02K+ H=216 :::noz:; :frur:e _gg is 276, then what is
/%ﬂ;g;f/ g1 |3 & &YWy §HUad (LCM) 39 Hgwd
— ———  [uuddes (HCF) & 22 71 21 afe u& 9
L= 429xaa 132 & 3T LCM 3i® HCF &1 4 276 &, @

12 ¥2 x4, T & T 87

oy 130 SSC CGL 18/04/2022 (Shift-03)

(a) 30 (b) 20

()24 (d) 25




o) 1A AMATHSE1I: or all govt. ex: By ADITYA RANJAN SIR

* L= HXZ 41. The LCM of the two numbers is 12 times
% L4H= 169 their HCF. If the sum of LCM and HCF is
169 and the sum of the numbers is 9l ,

5 I2HtH =69 find the difference between the numbers.
%H-“—MIB a1 W S @gTd Quuae 39a AU, @ 12
T 1 afg LCM 3T HCF &t AT 169 & 31
Sum T[T &AM T, O wErs & s oo




COMPLETE | .Y s &Y COURSE (For all govt. ex: sy ADITYA RANJAN SIR

- M=120 T+l =65
H(E=5 U 1 42. The HCF and the LCM of two numbers are S5

|+ L and 120, respectively. If the sum of the two

I 1L numbers is 55, then the sum of the

- T+1 E'i 1 reciprocals of these two numbers is equal to:
IxT  BXi20 a1 W o HgWH "Hudades (HCF) 5 317 #gad

gargE (LCM) 120 #1 afg 29 S+ wenei &
AT 55 &, A ek SHERHl Rl AT FTA ShiTagl
SSC MTS 05/07/2022 (Shift- 3)

55 \9/1’1
(@) So1 (5120

120 4 691
() 771 (d) =5



ex2  6X3

HC(F = 6



: ATHSK«(i): or all govt. exz By ADITYA RANJAN SIR

T+I=1215 HcF=8 43. The sum of two numbers is 1215 and their
HCF is 81. If the numbers lie between 500
and 700, then the sum of the reciprocals
of the numbers is .....

ST GEsl T AMEE 1215 & a9T 39T 9.9, 81

S S
(a) 702 (b) 378
S ' S
(d)

1188




W
=



or all govt. exa BY ADITYA RANJAN SIR

44. Two numbers are in the ratio 7 : 11. If their
HCF is 28, then the sum of the two numbers
is:
a1 TEel @ U™ 7 : 11 #)1 afg e wEww
guTIades (HCF) 28 #, af @Ml GE&Ansti sl an 314
&

SSC CPO 25/11/2020 (Shift-1)

(a) 196 \(by504

(c) 112 (d) 308



ATHSK1): .

T:00: 101
§x 8¢ 9%

— ="

45.

30Vt exz BY ADITYA RANJAN SIR

1 2 3

Three numbers are in the ratio ~k : 3°a3"

If the difference between the greatest
number and the smallest number is@
then HCF of the three numbers is:

?ﬁ?u@ﬁ; g %%aﬁmﬁ‘glaﬁ:ydﬁ

ST WEAT 3T Tad BT W& &1 3faT 33 ,
@ gEEnai @ "W wuiyades (HCF) famaar
2AT?

SSC CGL MAINS 03 Feb 2022
(a) 9 (b) S

(c) 13 \(9)/1 1



yovt. exz BY ADITYA RANJAN SIR

The ratio of two numbers 9% 14Xand their
LCM is 1008. The numbers are:

& WEsl @ AU 9 : 14 3 I ogwd
TuTIades 1008 &1 HEATU §:-

(a) 63, 98 by 72, 112
(c) 81, 126 (d) 54, 105



ATHSKI prr all gg D.¢ BY ADITYA RANJAN SIR

(cm= HC FYQ Xb 47. The HCF of two numbers is 29 and the

- 99 XISXI3 other two factors of their LCM are 15 and
] \/ 13. The larger of the two numbers is:

ang= QYIS a H@Ean & WHU, 29 'E ’AT & FEU F

- yas I & UEES 15 30T 13 E A & s u

ST W& AT w

\(9/4’35 (b) 377

(c) 406 (d) 464



w0 AN AMAT HSEG0): or all govt. exz By ADITYA RANJAN SIR

L+ H= 4956 48. The sum of LCM and_HCF of two numbers

176X + X = Y956 @ Those numbers have a ratio of 11
)2’(!.3 %6 08 : 16. What's the difference between LCM
and HCF of two numbers?
A=28 gl el & @.°, 997 UH, & A 4956 &) A
L-H:I‘:g)?;g demslt ¥ 11 : 16w IIE §1 T wewel &
T - yqoo s LY. 9T B9, & AaT &0 g7
— (a) 4480 (b) 4620
(c) 4780 4900
T

® ¢
"
H(F“mt’( X1IX1g ,..



(50$i‘-)

12,20, 18 ——2LeM=K

19 = 2°X3

9= 22x6 Hee ) ke
8= 32x2 ) F
HE- 2 em=2"x3'xS
= 180
L -

H(F'%go



49. The LCM of 165, 176, 385 and 495 is k.

65 = IIX3X6 When k is divided by the HCF of the
- 11 X 04 numbers, the quotient is p. What is the
16 ~ (IXSXT value of p?
385~ x9¥xG 165, 176, 385 3MT 495 &1 @H. k &1 9@ k &l
4as = | wemsi % ww, g fawfem fEar wen &, @
HCE= 1 Lm=ufo9x3xsxq  TTTEE p W AT €1 p S 6T SE
HE () 2520 _(b/5040

_ (c) 6720 (d) 3360



o) 1A AMATHSE1I: or all govt. ex: By ADITYA RANJAN SIR

15
I, B 50. Three numbers are in the proportion of 3
Lem = (3%, 8%, 157) : 8 : 15 and their LCM is 8280. What is
69 o9 TEAU 3:8:15 & 3FUE | § 31 I9a agad
/laﬁx:ﬁi‘ﬁy quUae 8280 ¥ 3T WEWH TUIUSdah ol &M ?

SSC CGL 19/04/2022 (Shift-01)
(a) 60 (b} 69

- Hee (3%, 8, 15x) (c) 75 (d) 57
S &
= Gq



ATHSKI): or all g¢ PXE BY ADITYA RANJAN SIR

- 30%
L(,m(Qx’gl'Sl) 2 S51. Three numbers are in the ratio of 2 : 3 :
'/96(76 ) z S5 and their LCM is 90. Find their HCF.

A W@ 2:3:5 & 31U " § 3T IR I
quTga (LCM) 90 1 39ehT WEWH WHIUAA®
(HCF) ATd ahifaul

HCF (2¢,3x,52) = X = 3

SSC CGL 02/12/2022 (Shift- 04)

(a) 9 (b) 1

(c) 6 NE



ATHSEi): or all govt. ex: By ADITYA RANJAN SIR

4
556 7 63 7 3Yq . 52. Find the greatest number that divides 556,

——

e e x 763 and 349 and leaves 4 as remainders
respectively.
ag Afaeran dEm F| & f9ad 556, 763 adn
= H-CF (552,759, 3”5) 349 H W 29 UT Uedes figfa ® 4 919 awrar 87
@ - (2769 (b) 92
(c) 36 (d) 54

V0T =3eq



y ATHSE)I: or all gg 0. ¢ BY ADITYA RANJAN SIR

4
556 7 63 7 3Yq . 52. Find the greatest number that divides 556,
e e x 763 and 349 and leaves 4 as remainders
respectively.
566, 163, 349 , ,
@ \'/\/ g 3fasay dEn 3| &t faa 556, 763 A
Q09 s 349 W W 29 UY Uedeh ffd ® 4 919 "o 87

| (2769 (b) 92
<) (c) 36 (d) 54



ATHS DURK pr all g¢ ¢ BY ADITYA RANJAN SIR

53. Find the greatest number that divides
o L [23?_ 525 797, 1085 and 1232 and leaves 16, 20, 25
as remainders respectively.

gg 3fueray 9@ AT & TS99 797, 1085 4T
\/\/ 1232 ® WM 29 uT e fegfa § 16, 20, 25
Q8Y 9 aerdr 27

|2
(a) 69 \(9/1
(c) 65 (d) 91

XN |

o= Hee (181, 1065, 1207T)



o) 1A AMATHSE1I: or all govt. ex: By ADITYA RANJAN SIR

S54. Let x be the greatest number which when

1 0
5 (02 ol divides 955, 1027, 1075, the remainder in
\/ each case is the same. Which of the
2. 48 following is NOT a factor of x?
\/ uH o fh x @@ oSt 9@ § S 955, 1027, 1075
o4 @t fawfsa &t €, a1 Ui e ¥ 999U 2
frafefas & 9 @@ x & UrEE @ 87

Y Y SSC CGL Tier-II (16/11/2020

6 (a) 6 (b) 16

(c) 4 (d) 8



ATHS DURK pr all g¢ ¢ BY ADITYA RANJAN SIR

1891 8110 85%6 55  When 7897, 8110 and 8536 are divided by

\/ ‘\/ the greatest number, then the remainder
in each case is the same. The sum of the

QN 426 digits of x is:
S 7897, 8110 37T 8536 &l WaH TSl WEAT x
L= S ¥ fawfaa fear smar 2, ar vee fafa o 9w

On - o \ - . . N N
> = 43 =6 TuT 1 A xH 3TF T AM
6 (b) 9

(c) 14 (d) 5



pr all go PX3 BY ADITYA RANJAN SIR

56. When 2388, 4309 and 8151 are divided by

a certain 3-digit number, the remainder in
each case is the same. The remainder is:

afe 2388, 4309 31T 8151 &l A9 3iah! aTell Ush
fAfvea = 9 fawfsa fear s & O v
I TUT. IO Sedl g1 9%l JTd Shifeal

\@)/( (b) 19

(c) 39 (d) 23




o) 1A AMATHSE1I: or all govt. ex: By ADITYA RANJAN SIR

062 1134 1182 57, When 1062, 1134 and 1182 are divided by

\/ \/ the greatest number x, the reminder in
M2 948 case is y. What is the value of (x-y)?

i‘ wH.1062,.1134 3T 1182 amwaﬁag%m;c

A= @Y ¥ fawrfaa fear smar €, 9 9 99%e y 4T 2

(f-y)ammwamﬁfm?

| SSC CGL Tier - II (15/11/2020)
'?% (a) 19 \1:)(17
©®y (c) 16 18




ATHS JUR D3

povt. ex: By ADITYA RANJAN SIR

yiyqg BHeol 7092  58. Ifris the remainder when each of 4749, 5601

N/

852 14q |

N\

6359 ﬂ@

2‘3)‘41% (22 <

<¥8q
k{gs

6\3"

and 7092 is divided by the greatest possible
number d(>1), then the value of (d + r) will be:

afg 4749, 5601 3T 7092 H H U I 931 |
el duifaa @@ d 9 fawrfaa fear smar € &
US® @ VUGS r g9dl &, a7 (d + r) T WH
il

(a) 276 (b) 271

(c) 137 (d) 149




ATHSKI): or all gc PXE BY ADITYA RANJAN SIR

Usyp 5%98 6889 59. When 4546, 5398 and 6889 are divided by

the greatest number m, the remainder in
@ @ each case is n. What is the value of (2m - 3n)?

TS 4546, 5398 3T 6889 I WaH TSt WET m
¥ faurfsa fear smar 2, a1 v frafa § sowa
> n 4T €1 (2m — 3n) & |IF &1 87
3 X@ﬁm (a) 189 (b) 140
\Uc} 207 (d) 134
6”3)”8\((3@.\
4926 Qm -3

2| ~§uq
@ I 07




N

ATHS JUR {
U, 6, 10,15 —-).60

=Lem(4i6, 0,16)+ R

60+2 = 62

o Qum o%diaigz 642 =8

povt. ex: By ADITYA RANJAN SIR

Let the least number of @se=&igits which
when divided by 4, 6, 10, 15 leaves in each
case same remainder 2 be N. the sum of

digits in N is.

uH ferar wo f €3 #it 97 =gaw @@ N
T, T 4, 6, 10 99T 15 ¥ 9M 294 U7 U
ﬁmﬁﬁzﬁwm%?ﬁNW%mﬁm

(a) 3 (b) 5
(c) 4 (d) 6






ATHSEI): . yovt. exz By ADITYA RANJAN SIR

U,6, 10,15 —‘). 60 Let the least number of six digits which
when divided by 4, 6, 10, 15 leaves in each

|\1--_-.(,(,M(_‘h6,l0.|5)"—r R case same remainder 2 be N. the sum of
-  |00020+2 digits in N is.
= looo22 ae forar s fof 6 3feRl &t 98 =gaw W& N

¢, Toad 4, 6, 10 99T 15 ¥ 91 39 U7 U
§umnf)di3ils.-.|-r2+2=s ﬁwﬁiﬁzﬁﬁm%aﬁl\rma’;mm

(a) 3 N s

(c) 4 (d) 6



Q. 6,7]6 —Rem>1

fp  onss (m(6,18)xn+R
= [68n+L

MN=41 168X1+1 = 169

= =

N=2 68x2 t1= 339



©. 4,56,6 —Rem-2
ﬁﬂ_s OM} = l,U“(,qlstb)'n"'R
= 60nt+2

“fe%‘ no. 9 n= |
- O0XI42 :2



0 (ast & 5,6)—> Rem > L
humber . Divisible by 11

@5 oy = km(2,56)m+ R

N:

M= 1 N=341 X
:):2 N = 30x2+41=61 X
N N= 3oxqq

:@ \/



=3 N=840ox342
T 2800

yovt. exz BY ADITYA RANJAN SIR

The least multiple of 13, when divided by
4, 5, 6, 7 and 8 leaves remainder 2 in each

case?

13 & 9¢ Wad BreT A 99 4, 5, 6, 7 AW 8
| WM A W YAE 90 A 2 9 s @) e 2

(a) 2520 (b) 842
oYy 2522 (d) 840



ATHSKI prr all gg D.¢ BY ADITYA RANJAN SIR

-1
M0-=— . 61. The least multiple of 13, when divided by
e SpDe (4,5, 6, 7 and 8 leaves remainder 2 in each

Find muktiple 0513. case?

13 & 9¢ Wad BreT A 99 4, 5, 6, 7 AW 8
| WM A W YAE 90 A 2 9 s @) e 2

%2520 k) 842
(c)2522 )(q 840






multiple of 13, which when divided by 6,

1 8 and 12 leaves 5, 7 and 11 respectively
as the remainders?
N 5T1) 4 13 & 39 @9a9 T &, Toaw i 6, 8 W 12
q faurtaa farar o ar w9 5, 7 3T 11 JWwS
L (6,8,12)n - diff o &, 3fahl o AR o 272

N =
N= @un-1 (a) 5 (b) 6

Dif62. What is the sum of digits of the least




ATHSK«(i): or all govt. exa BY ADITYA RANJAN SIR

Ol
) Ay (5,6,6,Q,12) n7 @ 63. When the smallest number x is divided by
5,6,8,9 and 12, it gives remainder 1 in
_ + =g b
(kn = (56,89 12)M each case. But x is divisible by 13. What
will be the remainder when x will be

divided by 31 ?
N= 10 ¥ S 5, 6, 8, 9 3T 12 W TAW BT WE&T x H
WN=1a ¥ faatfsa fear Sar £, & USE WO § 1 9w

8 Q@D g dw £, fg x, 13 @ P &1
1 ¥ fawrtsa forar smoom ar wra oiw feRasm grm?
N-= 360X\0-}\‘

SSC MTS 20/03/2019 (Shift-02)
<3)) 360\&'\ c (a) 1

(c) 3 ' (d)O
S()“ ¥

hql —
S_I86




ATHS DURK pr all g¢ ¢ BY ADITYA RANJAN SIR

In+4 ;
(= Lum (1e,24,30,36/4 )n+64. Let x be the least number which when

x= 1200+4 divided by_16, 24, 30, 36 and 45, the
L= S120n+4 = 20n+4 '\ remainder in_each case is(4,)and x is
298 di_glﬁm_hy@ If the HCF of x and 3193

is y, then what is the sum of the digits of y?
M= 1 T =24

0 ) u Sifau x TEE Bt wen & f | e, 24, 30,
=t =8 36 3T 45 | faurfaa &= W v fafa o v
Q= T20X4 49 4 T, AT x, 28 W faursw &1 afg x 3w 3193
= 28Qy &1 HCF y &, a1 y & 3iahl &1 a1 & 272
= M (2aqyai03) \@A (b) 9

‘ (c) 5 (d) 10
%‘WO@:&X\Q\@,



ATHSK«(i): or all govt. exz By ADITYA RANJAN SIR

L= Lum(12,18,20 121,390 +2 65. Let x be the least number which when

= 5uon+2 divided by_12, 18, 20, 27 and 30, the
remainder in _each case 1s 2 and x is
A = SHON+2 =' divisible b @ If the HCF of x and 1932

47 is y, then the sum of the digits of y is?
= Qs X tm'cfﬂﬁmxuaﬁ@iﬁm%faﬁu,m,zo,
@=9 Qy 27 3T 30 ¥ fawrfea & o yae frafa o g

D

_ T x, faurss 2 3T
A= SYoxy4o - Qlgo % y‘g ;:jaﬂ m:&;;‘m 1%7 1932 <hl
47 He (Q162,1932) = at oy - e

c) S d) 11
K)M%d‘?"f Gegy T @



ATHSK«(i): or all govt. exa BY ADITYA RANJAN SIR

(M (3,4,6,78 12) 66. _Six bells begin to toll together and toll,
respectively, at intervals of 3,4,6,7,8 and
- 68 12 seconds. After how many seconds, will

they toll together again?
6 ufear, st f& wuwr: 3, 4, 6, 7, 8 3 12
Uhs & 3a0Tel U awidt &, Ush WY S 9
w1 feay GwE @ W, 3 fer ¥ Uw 99
AT ?

SSC CGL 12/04/2022 (Shift-02)

(a}-267 %
_{e}-176-



ATHSK1): .

um (48,12, 108) 67

_ conds
= 4z o

= 432 -=TTmin |2Sec
60

8:20
112
8:213\7_

==

30Vt exz BY ADITYA RANJAN SIR

The traffic lights at 3 different road
crossings change after every 48 sec, 72 sec
and 108 sec, respectively. If they all
change simultaneously at 8:20 a.m., then
at what time will they next change again
simultaneously?

fortdt Weas & 3 1316 hitan ¥ fthen wmge
THAYT: U 48 Hehe, 72 Hahg 31T 108 Hhe &
e TS At g1 afg o 9t 8 : 20 a.m. UT
U&h WY agadt &, af el aw o fedt qua
forr @ s Wy "g?

SSC MTS 07/07/2022 (Shift- 1)

Mm:m a.m. (b) 8:33:32 a.m.

(c) 9:12:18 am. (d) 8:40:14 a.m.



ATHSKI): or all g¢ PXE BY ADITYA RANJAN SIR

L (316 9 '2’15) = |60 g°68. Six bells commence tolling together at 7:59

am. They toll at intervals of 3,6,9,12 and 15

seconds respectively. How many time will

Total =_[Tmin S AR they toll together till 8:16 am? (excluding the
3 toll at 7:59 am)

DE Hfed 7 : 59| 9N Ueh WY &S Al & |
a el 3, 6, 9, 12 3T 15 e & ATl UT
Y )

aadl 8l gag |8 : 16 )& dek Usk g faraHt

AR i ? (FAE 7 : 59 o do il BDISdT )




ATHSK«(i): or all govt. exz By ADITYA RANJAN SIR

LM (,9,25,3g,qs) i) 69. There are four bells which ring at an

. .interval of 15 minutes, 25 minutes, 35

|ST5mMiN = Q6hy 1Sma, 4 utes and 45 minutes respectively. If

all of them ring at 9 A.M., how many more

MOhy T 2 R times will they ring together in the next
72 hours?

ww "ufear (bells) £ =T wuvn: 15 fua=e, 25
fagz, 35 fawe 3117 45 foa=e T o =4t £

Uﬁnﬁwﬁm‘wm%}a}m

72 W2t | & T famadr a7 ue |y S i?

=4
==

Q6 hy |1Smin

PSC CDS 2023 (1)

(a) O (b) 1

\(c)2 \ (d) 3



ATHSK«(i): or all govt. exz By ADITYA RANJAN SIR

LM ( 95,39 ,60) = 3900 se& 70. There are three traffic signals. Each signal
changes colour from green to red and then

3Q00 3900 from red to green. The first signal takes 25

Giveen R_'a G7 seconds, the second signal takes 39
seconds and the third signal takes 60

;@d - 130Min seconds to change the colour from green

- : to red. The durations for green and red

/é’y = i S e colours are same. At 2:3:) p.m, they

together turn green. At what time will they
they change to green next,

2:.00 simultaneously?

2:10 da e fare &1 waes fae @ W oE |
M el 3T fFT &er | 20 s=ean #1 #7 | ene 1
T aaed H ugel farer @ 25 Aeg, TE fave @

39 HHUT T drar fare & 60 AEHUE T 2
BT T @ TN S srEteEt w81 2:00 =9 3UNg
&, F UFH WS £ B A4 ) ovven = faew wua
Ut o U WG gL A2

PSC CSE 28/05/2023 (CSAT)

(c) 4 : 20 p.m. (d) 4 : 30 p.m.



o) 1A AMATHSE1I: or all govt. ex: By ADITYA RANJAN SIR

IKQ)- - 3'9)5(53 71. What is the least number of soldiers that
IS E 3 X5 can be drawn up in troops of 10, 12, 15,
)18 =32 x2 18 and 20 soldiers, and also in form of
0 ‘9—9’ XS a solid square?

39 Hfenl &l gAa9 d@& 7| &, 9= 10,

Lemn = QQ'XSQ'XS‘
i 12, 15, 18 31T 20 #fAahl &t THST AT MW

ang = 223> x5'x g/ T & w9 H 99 fewar s gewar 7
= %0 SSC CPO 24/11/2020 (Shift-2)
(a) 400 (b) 625

¢y 900 (d) 180



20 o.pple <40 ovange

H(F=(30,40) =10\

ﬂo.% Student - i{?* %
=Q



o) 1A AMATHSE1I: or all govt. ex: By ADITYA RANJAN SIR

H(F (loQ2,3‘-!32) 72. A fruit vendor brings 1092 apples and 3432

oranges to a market. He arranges them in
heaps of equal number of oranges as well as

1092 ) 3432 (3 apples such that every heap consists of the
3276 maximum possible number of the fruits. What
(156)1022("1  is this number?
1092

- s T faghdal Ueh arsi@ § 1092 Ha 4 3432
At T 81 9% I% WAl & ol AN HA & e
% 39 YR ¥ aftgd &iar § e g0 o ° wel
H HEA AfueRad g1l 98 WA A1 w7




ATHSK«(i): or all govt. exa BY ADITYA RANJAN SIR

HeE ( 102, 119, 183, 204) ;

73. Four ropes of lengths 102m, 119m, 153m
and 204 m are to be cut into parts of equal

&6 1 9 (2]ength. Each part must be long as possible.
no-u6 piece =Jg + 4 ‘*—'g‘*MWhat is the maximum number of pieces

);'//I’T yythatcanbecut?

= (3Y) 102 Wex, 119 WeT, 153 HieT 3iw 204 HWeT e
u el sl WHE @aTE % 9T W SRTeT ST
Tl U 9T IUTHYE SEl gET Ul we Wl

CRPF HCM 27/02/2023 (Shift - 01)

(a) 42 (b) 36

(c) 252 \@)/aﬁ



74. A gardener had some plants for planting.
He tried planting them in rows of 7, 8, 9
and 12. But he always had one plant left.
When he tried to plant 11 in a row, he had
none left. Find the minimum number of
plants with the gardener.

Ush Ulell & UM T & faw /e U 91 3R
3% 7, 8, 9 AW 12 & Ufwhal § T i HIT9T
il SIfeh SWeh UTH THYM Uk UIET &= Tgar 9l

A 3T FEIET 11 Ut @ T RIOTIT i, Al
IHE UTH Ueh M7 &1 S=ml Wreil & e uren R
IAqH & ATd hilfAU|

CRPF HCM 11/03/2023 (Shift - 01)
(a) 4631 S (b) ¥804

(c) 506 2. \dy 3025 A




74. A gardener had some plants for planting.
x= LLM(”’:e'q"Z)'""' R He tried planting them in rows of 7, 8, 9

and 12. But he always had one plant left.
When he tried to plant 11 in a row, he had
none left. Find the minimum number of
=1 « = S0S X plants with the gardener.
6

N ~ \ » - A N - -
A= 3028 7 UH WG & UH @A & a0 HP w36
32 7,8, 9 3T 12 & Ufhal § T T RI9T9T

il SIfeh SWeh UTH THYM Uk UIET &= Tgar 9l

A 3T FEIET 11 Ut @ T RIOTIT i, Al
IHE UTH Ueh M7 &1 S=ml Wreil & e uren R
IAqH & ATd hilfAU|

CRPF HCM 11/03/2023 (Shift - 01)

(a) 4631 (b) 1804

(c) 506 \(d)3025




OMF ATHSEI): or all govt. ex: BY ADITYA RANJAN SIR

no Q
—rr. 1
.l"_.(f 9,21, %b' 20 75. Three pieces of cakes of weight 4 — kg,
Lem\ 2 S
3 1
o) 62 kg and 7; kg respectively are to be

divided into parts of equal weight. Each

20 20 o e as heavy as possible. If one
o 3X S 4 ¢ such part is served to each guest, then what
= /2'& + 27%20 + is the maximum number of guests that can
XY be entertained?
Ay %/q’

3 - B———
1D 418416 :® ,64ﬁmm75fwmma¢m

& A TS wHUYT: HAE g9 & 9 o faunfea
(a) 20 (b) 54
(c) 72 41



ATHSK«(i): or all govt. exz By ADITYA RANJAN SIR

76. Three runners running around a circular
track, can complete one revolution in 2,
6 and 6.5 hours respectively when they
will meet at the starting point?

tm ( 2,6,6:) X Ush JTRN 2@ & WNI 3T F1gd gU o areew
lem (2060,65) = 180  FHI: 2, 6 I 6.5 WS H UF waH! YU W
Hahd 2, Wi fag o o ugelr aw faas =2

ng=18g arg fuei?
s (a) 36 (b) 39

(c) 41 (78



povt. ex: By ADITYA RANJAN SIR

Swapnil, Aakash and Vinay begin to jog

around a circular stac um They complete
their evolutions in seconds 48 seconds

and seconds respectively. After how
many seconds will they be together at the
starting point?

=i, R T faqa ua Mo 2feam
& Wi o drE UE w1 A O ufew
THUYT: 36 HehE 48 Hehe 3T 42 Hahe H Ui
&tdl g1 fore O & @e 9 wnfus fag uv
Ush W1 g7

)ﬁ S04 seconds (b) 940 seconds
WIOOS seconds (d) 470 seconds



ATHSK«(i): or all govt. exz By ADITYA RANJAN SIR

78. A floor of a big hall has dimensions 30 m
m 4oem ©0 cm and 23m 40 cm. It is to be paved

- 23yo Wwith square tiles of same size. What is the
minimum number of tiles required?

= 3060m Ush fayme g & WYl & ATATH 30 HiET 60
. % At 31T 23 et 40 WU g1 THY WU 3R
L= HCF(3060,2340) | (6T TR 2136 e W &1 Y Wy Tt

= ZTgAl i ATAYARAT §7?

1
X \
W)éf‘)x” =So8PX 234y (a) 30 (b)

UE A (c) 169 (41 221




ATHSK«(i): or all govt. exz By ADITYA RANJAN SIR

79. The dimensions of the floor of a

HEs rectangualr room are 3m 60 cm X S m 40
Tl Sm {ocn)

cm. It has to be covered with square tiles.

What is the dimension of the largest square

S 6ocm tile that can be fitted? How many such
X= HCF(360,540) tiles are required to cover the ﬂ.oor?
= 180 Us ATIATRNT UL o WY i fammg 3H60qH

' R x SHI40WHT &1 TH AMehIT ZTeell d THhT 2
Man}mS(% fre &l &1 Wehd ATell @ad d81 ailiehlT 2T8e

N=g st faar @ 87 w9l &t @@ & foo U faaet
TSl ohi TAYThHar BTl ?
\(x)/lsouso, 6 (b) 180x180, 9

(c}-120%120,-12 1d}-20x90, 8



30Vt exz By ADITYA RANJAN SIR

A servant was hired for fixed days for
which he had to pay Rs 3239. He was
absent for some days, and only Rs 2923
was paid, what was his maximum daily
wages?

Ush At @t Ffyea faai & foo & fou m
T T Taaes fau 339 3239 wua faar srm an
ag ®p feat & fou srufiaa w1 g 33 Faw
@3@%@,3@3%3#“%&%@@
T 9r?

(a) 80 \(p/vg

(c) 78 (d) 81



1,94

last divisor =19 9923 ) 3239 (4
v \/ )2q23

X 316)2923(q

Q84Y

W&s(q

Her (3239,2923) =19 -




w0 N AMATHSE(]1]: .

ek (XY)=15 81,

(3e-813 8 (81" - 9y?)

yovt. exz BY ADITYA RANJAN SIR

If the greatest common factor (HCF) of x
and y is 15, then the HCF of 36x* - 81y?
and 81x% - 9y? is divisible by ?

afe x 3T y &1 WgwH 9uvads (HCF) 15 %,
a1 36x2 - 81y? 31T 81x2 - 9y? &T HCF
¥ faur grm?

SSC CGL TIER- 11 06/03/2023

(ay'135 (b) 120
(c) 90 (d) 180




o) 1A AMATHSE1I: or all govt. ex: By ADITYA RANJAN SIR

13 , . b, c 19XY 82. 13 a,b,c are four distinct numbers and the
|BX2 13¥3 C13,0) HCF of each pair of numbers (13,a) ; (13,b);

03-0) (13,b) ; (13,c) is 13, where a,b,c are each less than
K 2 > a+c

60 and a<b<c. What is the value of b ?

O+¢ = ;%2 +135%y 13 a,b,c T EAT-IAT WET § 30T FE=A

. ) e & U W3 (13,a) ;{13,b); (13 c)a:nm 13

B :‘%, @ %'«T%Tab,cm 60 ¥ &W ¥ 3T a<b<c B

a+c
b

T OIH =T &2

SSC CGL 13/04/2022 (Shift-01)

(a) 3.5 \(by2

() S (d) 4.5



WCF

0

52 = 22 x13
I8 = 2X3XI3

HE - 2XI13

@9




or all govt. exa By ADITYA RANJAN SIR

83. In finding the HCF of two numbers by
division method four successive quotient
are 4, 3, 6 and S respectively and final

divisor is 12. What are two numbers?
faursa fafér grr 3 @@=t & HCF 319 &3 |
N hideh WHTHET HHIT: 4, 3, 6 30T 5 1 3F
a9 W 12 ¥, I WA T E?

KS (a) 1226, S376 (b) 1116, 4836
(c) 1056, 4596 \(d1176, 5076




povt. ex: By ADITYA RANJAN SIR

In finding the HCF of two numbers by the
division method, the last divisor is 28 and

the quotient are l\e_i} ,/_1/ and’g/
th

respectively. What is sum of the two
numbers?

arn fafer grr 2t gt @t HCF 34 & |,
fam TR 28 ¥ 37T WNTHRET U9 1, 30, 1
3T 3 Tl 27 GE&AT T AN T 27

\(a} 7000 (b) 6944

(c) 6860 (d) 7140




